
S4110 06/08   PAGE 1 OF 1 

FORD FOCUS  

Installation Instructions 

 

 

Thank you for purchasing this MBRP Inc. Performance Exhaust Product. If technical assistance is required, please 

call our staff : Toll Free 1-888-636-7223   

 

 

 Hardware Included: 

 2pcs. - FX345 Gasket 

 8pcs. - 7/16" Flat Washer 

 4pcs. - 7/16" x 1 ½" Bolt 

 4pcs. - 7/16" Nuts 

 4pcs. - 7/16" Lock Washer 

 4pcs. - 7/16" Nuts 

 1pc.  - 2 1/2" Clamp 

 1pc.  - Rubber Hanger w/hardware 

 3pcs. - Exhaust System 

   

Removal of stock system ; 
 

 Removal may require cutting the pipe just behind 

the first muffler before the axle. 

  

 Remove the exhaust from the front flange and carefully remove it from the rubber hangers. 

  

 Remove from vehicle 

 

Installation of MBRP Inc. - 3 piece Stainless Steel Focus System ; 

 

Using fasteners and gaskets supplied, attach the resonator assembly to the front flange and rubber hangers. 

 

Install the muffler assembly into the OEM 

hanger and over the resonator section using the 

clamp supplied at the slip joint, (DO NOT 

tighten clamp until all components are installed 

and in place.) 

 

Install the tailpipe from the rear of the vehicle, 

over the axle section of the car. Attach the 

rubber hanger (supplied) to existing vehicle hold 

down bracket mounted to the frame, using 

gaskets and fasteners supplied, bolt the flanges 

together. 

 

After the system is correctly positioned under 

the vehicle, starting at the front tight all 

connections ensuring proper alignment.  

 
MBRP Inc. Recommends that all exhaust systems and accessories be installed by a trained automotive technician.  If these parts are to be 

installed by a do-it-yourself person, or end user, please take all necessary precautions to ensure a safe installation.  


